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1. Answer the questions based on the following data from Egyptian Arabic and Iraqi

Arabic.
Egyptian Arabic
/katab + u/ [katabu] "He wrote him"
/katab +t + u/ [katabtu] "I wrote him"
/katab + 1 + v/ [katablu] "He wrote to him"
/katab+t+1+w/ [katabtilu] "] wrote to him"
Iraqi Arabic
/kitab + a/ [kitaba] "He wrote him"
/kitab +t + a/ [kitabta] "I wrote him"
/kitab + 1+ a/ [kitabla] "He wrote to him"

/kitab+t+1+a/ [kitabitla] "I wrote to him"

1.1. Describe the phonotactic constraint in these two languages in terms of syllable
structure? (10%)

1.2. What phonological process is involved when there is a violation of the above
phonotactic constraint? (6%)

1.3. The following two sets of words borrowed from English are found in Egyptian
Arabic and Iraqi Arabic, respectively. Identify which set comes from which language
and explain why you make such a judgment. (6%)

SetA SetB
"floor" [filoor] "floor" [ifloor]
"plastic" [bilastik] "plane"  [ibleen]
"three" [Oirii] "three" [16rii]
"translate” [tiransilet] "study"  [istadi]
"slide" [silayd] "snow"  [isnoo]
"Fred" [fired] | "Fred" [ifred]

"children" [dzildiren] "children" [dgzilidren]
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2. Answer the questions based on the following data from Welsh.

stem their his her gloss
l. pen ipen iben ifen head
2. porva iporva iborva iforva pasture
3. porf iporf ibor® - ifor0 door
4. pluen ipluen ibluen ifluen feather
5. tad itad idad 19ad father
6. ftrev itrev idrev iOrev town
7. tafol itafol idafol iBafol scales
8. tal ital idal iBal forhead

2.1. What are the morphemes for possessive, third person plural, and gender,
. respectively? (12%)
2.2. What do you predict will be the three forms for the following two stems? (6%)

- stem their his her gloss
9. ki dog
10. kalon heart

3. The following two sets of examples show a rule in Chinese. State the rule. (10%)

() aa REWELEGE -
b REBME=ZLBGE -
CH*REIEWME=ZLEHET -

(2) a FRIERRFHMBES -
b. AR ETHMBE S -
C.*ARERTEHME S o

4. Compare (1b) and (2b).

4.1. Explain why the latter is not acceptable. (5%)

4.2. Make another unacceptable example parallel to (2b) to show the same
constraint. (5%)

(1) a BEBFRET -
b. ARAZFLERT -

Q) a EEETAZHARZFF -
b. *AR A& EAK o) AR RFF -



B ox b E K B 100 % 4 E R kB A £ R R A

RATR S EB R A B BT A
28 | 3R #3 R

5. As shown in the following two examples, Chinese allows SOV order, whereas
English does not.

5.1. Make a plausible proposal to account for the cross-linguistic contrast. (10%)
5.2. Provide as many arguments as you can to support your proposal. (10%)

(D.5k2ep (BAR) B4AF (L&) FAB/T -
(2).*John (obviously) this book (already) read.

6. The following is an example of a compliment exchange in English. A young
adult compliments a child’s skating ability in a park, followed by the child’s
response.

Adult: "You're good at that! How long have you been skating?"

In what context would the child’s answer (a) be appropriate? (5%)
In what context would the child’s answer (b) be appropriate? (5%)

(a) Child: "Thanks. I started skating about 3 years ago."
(b) Child: "Oh, I've only been here about 10 minutes."

7. Examine the following place names.
7.1. Why is the word “new” translated as #7 for some names but & for the others?
(5%)

New York éz#

New Hampshire # E# &
New Jersey ¥ & /427 ¥ &
New Mexico #7 & &
New Zealand & 7
Newfoundland 43~ 3§

7.2. Evaluate the advantages and disadvantages for choosing each of the following
options as the English name of #73t 7. (5%)

(1) Xinbei City
(2) New North City
(3) New Taipei City



